Ncert Solutions Chapter 4 Quadratic Equations Exercise 4.2 Question 1

Question 1. Find the roots of the following Quadratic Equations by factorization.

(i) x*-3x-10=0

(i) 2x* +x-6=0

(iii) V2x* +7x+5/2 =0
(iv) 2x x+%20

(

v) 100x* -~ 20x+1=0
Solution (i)

x*-3x-10=0

= x> -5x+2x-10=0
= x(x=5)+2(x-5)=0
= (x-5)(x+2)=0

= Xx=5,-2

Solution (ii)

2x* +x-6=0

= 2X° +4x-3x-6=0

= 2x(x+2)-3(x+2)=0
= (2x-3)(x+2)=0
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Solution (iii)

J2x2 +7x+5J2 =0
— J2x2 +5x+2x+5/2 =0

:>X(\/§X+5)+\/§(\/§X+5)=O

:>(\/§x+5)(x+\/§)=0

_ O _
= x= 2 2

Solution (iv)
2X2 —x+£=0
8

16x° -8x+1
:>—
8
= 16x* -8x+1=0
= 16X* —4x-4x+1=0
= 4x(4x-1)-1(4x-1)=0
= (4x-1)(4x-1)=0

=0

= X==,=
4 4

Solution (V)

100x* - 20x+1=0

= 100x* ~10x-10x+1=0

= 10x(10x-1)-1(10x-1) =0

= (10x-1)(10x-1) =0
_11
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| am also present on facebook.
Please like and share.

https://www.facebook.com/pages/Math-on-Rough-Sheets/300575096712996




